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Question1:-Which of the following statements about ARTICLE 23 (I) OF INDIAN
CONSTITUTION is correct?
(a) Deals with the Prohibition of traffic in human beings are forced labour
(b) Deals with Prohibition of employment of children in factories etc.
(c) Deals with protection of life and personal liberty.

        A:-Only (b) is correct

        B:-Only (c) is correct

        C:-Only (a) is correct

        D:-All are incorrect

        Correct Answer:- Option-C

Question2:-Which of the following statements about ARTICLE 55 OF INDIAN
CONSTITUTION is correct?
(i)   It deals with the election of the President of India.
(ii)  It deals with the executive power of the Union.
(iii) It deals with the manner of election of the President of India.

        A:-Only (i) & (ii)

        B:-Only (iii)

        C:-All of the above

        D:-Only (i) & (iii)

        Correct Answer:- Option-B

Question3:-Which of the following statements about ARTICLE 310(I) OF INDIAN
CONSTITUTION is correct?
(i)   An employee of the government in the civil service or defence service holds his
office during the pleasure of the President or Governor.
(ii)  A civil servant can not be removed by an authority subordinate to that by which
he was appointed.
(iii) A civil servant can not be removed or dismissed or reduced in rank, without
being given a reasonable opportunity of showing cause against the action proposed
to be taken against him.

        A:-Only (i) is correct

        B:-Only (ii) & (iii)

        C:-Only (i) & (ii)

        D:-All of the above



        Correct Answer:- Option-A

Question4:-We declare our determination to eliminate hunger and to reduce all
forms of malnutrition. Hunger and malnutrition are unacceptable in a world that has
both the knowledge and the resources to end this human catastrophe. We
recognize that access to nutritionally adequate and safe food is a right of each
individual. We recognize that globally there is enough food for all and that
inequitable access is the main problem.
The statement is related to
(i)   UN Millennium Declaration, 2000.
(ii)  Conference on Overcoming Global Hunger, Washington, DC, 30 November 1993
(iii) World Declaration on Nutrition, International Conference on Nutrition, Rome,
Italy, 11 December 1992

        A:-Only (i) is correct

        B:-Only (ii) is correct

        C:-Only (iii) is correct

        D:-All (i), (ii) & (iii) are correct

        Correct Answer:- Option-C

Question5:-Which of the following statements is correct?
(i)   P.K. Chathan Master was the first Minister for Local Self Government and Harijan
Welfare of the State of Kerala
(ii)  Chathan Master was elected to the first KLA from Chalakkudy Reserved
Constituency as a Communist Party Member.
(iii) In the 4th and 5th KLA, he represented Kilimanoor constituency.

        A:-(i) & (iii) are correct

        B:-Only (ii) & (iii) are correct

        C:-All (i), (ii) & (iii) are correct

        D:-None are correct

        Correct Answer:- Option-C

Question6:-Which of the following statements about Mitavadi C. Krishnan are
correct?
(i)   He was the First Chief Editor of Kerala Sanchari
(ii)  He purchased the ownership of Mitavadi in 1913.
(iii) He severely ciriticised M.K. Gandhi's non-cooperation movement and Civil
Disobedience Movement through Mitavadi

        A:-All (i), (ii) & (iii) are incorrect

        B:-Only (i) & (ii) are correct

        C:-Only (ii) is correct

        D:-Only (ii) & (iii) are correct

        Correct Answer:- Option-D

Question7:-Which of the following statements is incorrect?
(i)   Shanar women were given the right to wear upper cloth in 1829 through a
proclamation, though they were not supposed to wear the upper cloth like the
upper caste women.
(ii)  Shanar women were given full freedom to wear upper cloths through a



proclamation in 1859.
(iii) The Shanar Agitation of 1858 had spread to vilavankode, Iraniyal, Kalkulam,
Agasteeswaram and Tovala.

        A:-Only (i) is incorrect

        B:-Only (ii) is incorrect

        C:-Only (iii) is incorrect

        D:-All (i), (ii) & (iii) are correct

        Correct Answer:- Option-D

Question8:-Which of the following statements is incorrect?
(i)   Johann Earnest Hanxleden (1681-1732), compiled the earliest grammar book of
Malayalam language.
(ii)  Robert Drumund was the first British born grammarian of Malayalam language.
(iii) Rau Bahadur O.M. Cheriyan is the author of Hyndava Dharma Sudhakaram.

        A:-All (i), (ii) & (iii) are correct

        B:-(i) & (ii) are incorrect

        C:-(ii) & (iii) are incorrect

        D:-(i) & (iii) are incorrect

        Correct Answer:- Option-A

Question9:-Which among the following statements is correct?
(i)   For the dissemination of education in India, the East India Company had
earmarked a sum of rupees one lakh in the Charter Act, 1813.
(ii)  The foundation of modern education in Travancore commenced with the visit of
the Maharaja to Nagarcoil in 1834.
(iii) The first English school in Trivandrum came into being on 13th December,
1836.
(iv) Sankara Subba Iyer was the First Director of Vernacular education in
Travancore.

        A:-All (i), (ii), (iii) & (iv) are correct

        B:-(i), (iii) & (iv) are correct

        C:-(i), (ii) & (iv) are correct

        D:-All (i), (ii), (iii) & (iv) are incorrect

        Correct Answer:- Option-C

Question10:-Which among the statements regarding the Malayali Memorial is
correct?
(i)   On January 1, 1891 a petition signed by 10,028 persons belonging to all castes
and creeds was presented to Maharaja Sri Mulam Tirunal.
(ii)  It was drafted by K.P. Sankara Menon of the Madras Bar, G.P. Pillai and others.
(iii) The 'Explanatory Memorial' was later submitted to the Maharaja on July 3, 1891.
(iv) It was formally presented by a six man delegation comprised of G.P. Pillai, K.P.
Padmanabha Menon, M.K. Padmanabha Pillai, Syriac Nidhiri, Kavalam Nilakanta
Pillai and Sivan Pillai.

        A:-Only (i) is correct

        B:-(ii) & (iii) are correct



        C:-(i) & (iii) are correct

        D:-All (i), (ii), (iii) & (iv) are correct

        Correct Answer:- Option-D

Question11:-Which among the statements is incorrect?
(i)   In November 1931 Sri Chithira Tirunal formally took over the direct reins of
administration as Maharaja of Travancore.
(ii)  Sir C.P. Ramaswami Aiyar was appointed as the Legal and Constitutional Adviser
to the Maharaja in the same month.
(iii) Sir Mohammed Habibullah assumed charge as the Dewan of Travancore in
March, 1935.

        A:-(i) & (ii) are incorrect

        B:-Only (iii) is incorrect

        C:-(i), (ii) & (iii) are incorrect

        D:-None are incorrect

        Correct Answer:- Option-B

Question12:-Which among the statements is incorrect?
(i)   Spanish surrealist painter Salvador Dali died on 23-01-1989.
(ii)  India had successfully tested the short range ballistic missile "Agni" on
22-05-1989.
(iii) On 03-12-1989, Mikhail Gorbachev and George Bush, the leaders of the two
world superpowers, the USA and the USSR, have declared an end to the Cold War
after two days of storm-lashed talks at the Malta summit.

        A:-All (i), (ii) & (iii) are correct

        B:-(i) & (ii) are correct

        C:-(i) & (iii) are correct

        D:-Only (ii) is correct

        Correct Answer:- Option-A

Question13:-Which among the statements is incorrect?
(i)   Basel mission had a weaving unit in Tellicherry.
(ii)  Basel mission had a tile factory in Palghat.
(iii) Basel mission had a tile factory in Chombala.
(iv) Basel mission had two handloom and one power loom weaving factory in
Cannanore.

        A:-Only (i) is incorrect

        B:-Only (ii) & (iii) are incorrect

        C:-(iii) & (iv) are incorrect

        D:-None are incorrect

        Correct Answer:- Option-C

Question14:-Which among the statements about the 45th Chess Olympiad 2024
held at Budapest is correct?
(i)   China finished second in the tournament.
(ii)  India finished first in the tournament.
(iii) The United States of America finished third in the tournament.



(iv) Usbekistan finished third in the tournament.

        A:-All (i), (ii), (iii) & (iv) are correct

        B:-(i) & (iii) are correct

        C:-(ii) & (iv) are correct

        D:-(ii) & (iii) are correct

        Correct Answer:- Option-C

Question15:-Which of the following statements is incorrect?
(i)   Francis Hamilton Buchanan reached Kerala in the Eighteenth century.
(ii)  In 1850 Rev. George Mathan had recorded that slaves were treated like cattle's.
(iii) In 1818 the Travancore government sold out Munroe Thuruthu to the Church
Mission Society.

        A:-(i) & (ii) are incorrect

        B:-(i) & (iii) are incorrect

        C:-(iii) is incorrect

        D:-All (i), (ii) & (iii) are incorrect

        Correct Answer:- Option-B

Question16:-�श�ाम�डले िव�मानानां नूतनानां सम�यानां प�रहाराय वत�ते ।
        A:-िनदानशोधकम्
        B:-ि�याशोधकम्
        C:-�स��शोधकम्
        D:-मू�या�नम्
        Correct Answer:- Option-B

Question17:-मापन�य समीचीनां ता�लकां �चनुत ।
        A:-व�तुिन�ः, िवशालप�र�धः, अन�यूत�ि�या
        B:-�यि�िन�ः, �वत��मेव, स�ु�चतसमयप�र�धः
        C:-व�तुिन�ः, �वत��मेव, स�ु�चतसमयप�र�धः
        D:-�यि�िन�ः, िवशालप�र�धः, अन�यूत�ि�या
        Correct Answer:- Option-C

Question18:-य�ुमानां समीचीनता�लकां �चनुत -
(a) �ानिन�म�तवादः  -  1. अलन्
(b) सू�म�श�णम्    -  2. वैगो��क�
(c) �यवहारवादः     -  3. �लूम्
(d) वग�करणम्      -  4. ��क�र्
        A:-(a) - (3),   (b) - (2),   (c) - (1),   (d) - (4)

        B:-(a) - (2),   (b) - (1),   (c) - (4),   (d) - (3)

        C:-(a) - (4),   (b) - (3),   (c) - (2),   (d) - (1)

        D:-(a) - (2),   (b) - (3),   (c) - (4),   (d) - (1)



        Correct Answer:- Option-D

Question19:-अथोs��तानां समु�चतमु�र ं�चनुत। ?
        A:-�श�णम्, आसू�ण,ं ��त�फुिटः, पुनरासू�णम्
        B:-आसू�णम्, �श�ण,ं ��त�फुिटः, पुनरासू�णम्
        C:-��त�फुिटः, आसू�णम्, �श�ण,ं ��त�फुिटः
        D:-�श�णम्, ��त�फुिटः, आसू�णम्, �श�णम्
        Correct Answer:- Option-B

Question20:-अथोs��तानां समु�चतम् उ�र ं�चनुत ।
        A:-दरूदश�नम्, ��ेपकम्, ��थालयः, �च�पटम्
        B:-वेलापटम्, दरूदश�नम्, अ�तजा�लः, �च�पटम्
        C:-स�णकम्, अ�तजा�लः, त��ांशः, कु��पटलम्
        D:-अ�तजा�लः, वेलापटम्, ��थालयः, कु��पटलम्
        Correct Answer:- Option-C

Question21:-�यय�थान ंिकम् ?
        A:-2

        B:-6

        C:-11

        D:-12

        Correct Answer:- Option-D

Question22:-आ�पद ंनाम िकम् ?
        A:-1

        B:-4

        C:-7

        D:-10

        Correct Answer:- Option-D

Question23:-मकरकु�भयोर�धपः कः ?
        A:-गु�ः
        B:-म�दः
        C:-रिवः
        D:-च��ः
        Correct Answer:- Option-B

Question24:-शु��य उ��े�ं िकम् ?
        A:-मीनः
        B:-वृषभः



        C:-तुला
        D:-क�या
        Correct Answer:- Option-A

Question25:-च���य नीच�े� िकम् ?
        A:-कक� टकः
        B:-वृषभः
        C:-तुला
        D:-वृ��कः
        Correct Answer:- Option-D

Question26:-मनःकारकः कः ?
        A:-आिद�यः
        B:-च��ः
        C:-कुजः
        D:-गु�ः
        Correct Answer:- Option-B

Question27:-अ�सतः कः ?
        A:-रिवः
        B:-च��ः
        C:-कुजः
        D:-म�दः
        Correct Answer:- Option-D

Question28:-इ�दपुु�ः कः ?
        A:-रिवः
        B:-बुधः
        C:-कुजः
        D:-म�दः
        Correct Answer:- Option-B

Question29:-रजोगुणकारकौ कौ ?
        A:-कुजाक�
        B:-��सतौ
        C:-कुजाक�
        D:-शु�गु�
        Correct Answer:- Option-B

Question30:-दःुखकारकः कः ?



        A:-म�दः
        B:-च��ः
        C:-कुजः
        D:-गु�ः
        Correct Answer:- Option-A

Question31:-सव���यवृ��ः गुणः कः ?
        A:-�पम्
        B:-रसः
        C:-�ानम्
        D:-सं�या
        Correct Answer:- Option-D

Question32:-�वाथा�नुिम�तपराथा�नुिम�योः �क कारणम् ?
        A:-प�ता
        B:-�ल�परामश�ः
        C:-सा��य�ानम्
        D:-पद�ानम्
        Correct Answer:- Option-B

Question33:-य�य सा�याभावः �माणा�तरणे िन��तः सः ______

        A:-बा�धतः
        B:-स�य�भचारः
        C:-स���तप�ः
        D:-आ�या�स�ः
        Correct Answer:- Option-A

Question34:-जा�त�य��योः कः स�ब�धः ?
        A:-संयोगः
        B:-समवायः
        C:-�व�पः
        D:-का�लकः
        Correct Answer:- Option-B

Question35:-अनािदः सा�तः अभावः कः ?
        A:-अ�य�ताभावः
        B:-अ�यो�याभावः
        C:-�ागभावः



        D:-��वंसाभावः
        Correct Answer:- Option-C

Question36:-चूडामणीकृतिवधुः कः ?
        A:-कृ�णः
        B:-भवः
        C:-िव�नाथः
        D:-अ�ंभ�ः
        Correct Answer:- Option-B

Question37:-िन�य�वे स�त अनेकसमवेत�वं इ�त क�य ल�णम् ?
        A:-सामा�य�य
        B:-िवशेष�य
        C:-परमाणोः
        D:-समवाय�य
        Correct Answer:- Option-A

Question38:-आकाश�य िवशेषगुणः कः ?
        A:-�पम्
        B:-सं�या
        C:-संयोगः
        D:-श�दः
        Correct Answer:- Option-D

Question39:-केवला�व�यप�कः हेतुः कः ?
        A:-अनुपसंहारी
        B:-असाधारणः
        C:-आ�या�स�ः
        D:-बा�धतः
        Correct Answer:- Option-A

Question40:-उपिमतौ करण ंिकम् ?
        A:-�याि��ानम्
        B:-इ���याथ�स��कष�ः
        C:-सा��य�ानम्
        D:-वा�याथ��मरणम्
        Correct Answer:- Option-C

Question41:-शनःै शनःै �यािमकया कृत ंपदम् । क�याः ?
        A:-सोनायाः



        B:-शकु�तलायाः
        C:-पाव��याः
        D:-मेनायाः
        Correct Answer:- Option-C

Question42:-�व�स�ये परा�ेपः अ� �यापारः कः ?
        A:-अ�भधा
        B:-उपादानल�णा
        C:-ल�णल�णा
        D:-�य�ना
        Correct Answer:- Option-B

Question43:-संब�धा�तशयोि�ः �यादयोगे ______ ।
        A:-योगदानम्
        B:-योगक�पम्
        C:-योगम�डलम्
        D:-योगक�पनम्
        Correct Answer:- Option-D

Question44:-वसुधा भयेन चचाल ।  कदा ?
        A:-दशरथे कुिपते
        B:-जनके कुिपते
        C:-िव�ािम�े कुिपते
        D:-व�स�े कुिपते
        Correct Answer:- Option-C

Question45:-लोके िनय�यत इवा�मदशा�तरषेु । क�मात् उ�तृोऽय ंभागः ?
        A:-अ�भ�ानशाकु�तलात्
        B:-बालरामायणात्
        C:-कुमारस�भवात्
        D:-ना�शा�ात्
        Correct Answer:- Option-A

Question46:-नगण�य ंजगणः गु��य ंचेत् वृ�ं िकम् ?
        A:-उपे��व�ा
        B:-मा�लनो
        C:-वंश�थम्
        D:-इ��व�ा
        Correct Answer:- Option-D



Question47:-अवा�तराथ�िव�छेदे अ�छेदकारण ं- भव�त ?

        A:-बीजम्
        B:-काय�म्
        C:-िब�दःु
        D:-पताका
        Correct Answer:- Option-C

Question48:-उ�म�कृ�त��साहा�मकः रसः कः ?
        A:-रौ�ः
        B:-वीरः
        C:-हा�यः
        D:-�ृ�ारः
        Correct Answer:- Option-B

Question49:-िगरीणां ईशः सम�तपद ंिकम् ?
        A:-गौरीशः
        B:-िग�रशः
        C:-िग�रशाः
        D:-िगरीशः
        Correct Answer:- Option-D

Question50:-यदीद ंते �म ंत�ह तथा कु��व - इद ंिकम् ?
        A:-पु�पालनम्
        B:-��त�ाहानम्
        C:-��त�ापालनम्
        D:-गु�वचनम्
        Correct Answer:- Option-B

Question51:-ययाते�रव श�म�ा भतुब�हुमता भव। क�य वचनम् ?
        A:-गौतम�य
        B:-व�स��य
        C:-क�व�य
        D:-दवु�स�य
        Correct Answer:- Option-C

Question52:-उ�ा वस�त�तलका - गः । पूरयत ?

        A:-भजताजगौ
        B:-जनजाभगौ



        C:-तजभाजगौ
        D:-तभजाजगौ
        Correct Answer:- Option-D

Question53:-सव�मेतदपुप�ं महावंश�सूते भव�त। क�येद ंवचनम् ?
        A:-िव�ािम��य
        B:-व�स��य
        C:-जनक�य
        D:-दशरथ�य
        Correct Answer:- Option-A

Question54:-सामा�यिवशेषयोः उि�ः ________ नाम अल�ारः।  पूरयत ?

        A:-समासोि�ः
        B:-अ��तुत�शसंा
        C:-अथा��तर�यासः
        D:-अ�तशयोि�ः
        Correct Answer:- Option-C

Question55:-का�यरसा�भ�यि� हेतवः भावाः क�त ?

        A:-एकोन�वश�तः
        B:-एकोन��शत्
        C:-एकोनप�ाशत्
        D:-एकोनस��तः
        Correct Answer:- Option-C

Question56:-अता��श गुणोभूत�य�य ं_____ तु म�यमम् ।  पूरयत ?

        A:-वा�ये
        B:-�य�ने
        C:-�य�े
        D:-�य��ये
        Correct Answer:- Option-D

Question57:-जगाम गौरो�शखर ं�शख��डमत् । जगाम इ�य�य लकारः कः ?
        A:-लट्
        B:-लृट्
        C:-�लट्
        D:-लेट्
        Correct Answer:- Option-C

Question58:-�ा�ात् िपनािकनिमव प�यािम। कम् ?



        A:-�शवम्
        B:-मृगं
        C:-सूतम्
        D:-राजानम्
        Correct Answer:- Option-D

Question59:-अथ�प�ेपकैः सू�य ं______ ��तपादयेत्। पूरयत ?

        A:-ि��भः
        B:-स��भः
        C:-चतु�भः
        D:-प�िमः
        Correct Answer:- Option-D

Question60:-श�भु�व�मव�य� �वीकृ�य सम�ि�ताम्। क�याल�ार�य उदाहरणिमदम् ?
        A:-अ�धकाभेद�पक�य
        B:-�यूनाभेद�पक�य
        C:-अनुभयाभेद�पक�य
        D:-�यूनता�ू�य�पक�य
        Correct Answer:- Option-A

Question61:-राजतर��णी��थ�य कता� कः ?
        A:-क�हणः
        B:-िब�हण
        C:-प�गु�ः
        D:-�ेमे��
        Correct Answer:- Option-A

Question62:-बु�च�रते क�त का�डािन स��त ?

        A:-12

        B:-13

        C:-15

        D:-18

        Correct Answer:- Option-B

Question63:-'का�य�या�मा �विनः' - इ�त क�योि�ः ?
        A:-�ेमे���य
        B:-आन�दवध�न�य
        C:-धन�य�य
        D:-भ�नायक�य



        Correct Answer:- Option-B

Question64:-�बोधच��ोदय�य कता� कः ?
        A:-दामोधरिम�ः
        B:-श�रिम�ः
        C:-जयदेविम�ाः
        D:-कृ�णिम�ः
        Correct Answer:- Option-D

Question65:-क�त पुराणिन स��त ?

        A:-12

        B:-15

        C:-16

        D:-18

        Correct Answer:- Option-D

Question66:-िव�श�ा�ैत�य कता� कः ?
        A:-रामानुजाचाय�ः
        B:-गौनमाचाय�ः
        C:-उदयनाचाय�ः
        D:-म�वाचाय�
        Correct Answer:- Option-A

Question67:-म�वाचाय��य अपर ंनामधेय ंिकम् ?
        A:-जयतीथ�ः
        B:-आन�दतीथ�ः
        C:-�यासय�तः
        D:-राघवे��य�तः
        Correct Answer:- Option-B

Question68:-��ान�दीय ंइ�त ��थ�य �या�यानम् ?
        A:-भामती
        B:-�याय�स�ा�नम्
        C:-�यायसुदश�न
        D:-अ�ैत�स��
        Correct Answer:- Option-D

Question69:-मीमांसासू�े क�त अ�यायाः स��त ?

        A:-5

        B:-10



        C:-12

        D:-18

        Correct Answer:- Option-C

Question70:-�भाकरमीमांसकाः क�त �माणािन अ�ीकुव���त ?

        A:-2

        B:-4

        C:-5

        D:-6

        Correct Answer:- Option-C

Question71:-वेदो�धम�ः क�त िवधः ?
        A:-एकम्
        B:-�े
        C:-�ी�ण
        D:-च�वा�र
        Correct Answer:- Option-B

Question72:-इ�छाशि�मान् करण�पः कः ?
        A:-�ाणमयकोशः
        B:-िव�ानमयकोशः
        C:-मनोमयकोशः
        D:-आन�दमयकोशः
        Correct Answer:- Option-C

Question73:-अनुभववा�य ंिकम् ?
        A:-त�वम�स
        B:-��ान ं��ा
        C:-अह ं��ा��म
        D:-सव� ख��वद ं��ा
        Correct Answer:- Option-C

Question74:-भीमः कं श� द�मौ ?
        A:-पा�ज�यं
        B:-देवद�म्
        C:-पौ�ड�म्
        D:-म�णपु�पकम्
        Correct Answer:- Option-C

Question75:-सवा�न् ब�धून् ���ा अजु�नः कथ ंअभवत् ?



        A:-�ेषः
        B:-�य�नः
        C:-सुखः
        D:-िवषादः
        Correct Answer:- Option-D

Question76:-कौरवबल ंकेन अ�भर��तम् ?
        A:-भी�मेन
        B:-�ोणेन
        C:-कृपेन
        D:-दयु�धनेन
        Correct Answer:- Option-A

Question77:-जृ�भणकरः �ाणिवशेषः कः ?
        A:-�यानः
        B:-उदानः
        C:-देवद�ः
        D:-समानः
        Correct Answer:- Option-C

Question78:-अ�ैतवेदा�तानुसार ंव�तुः िकम् ?
        A:-��ा
        B:-ई�रः
        C:-अ�ानं
        D:-जगत्
        Correct Answer:- Option-A

Question79:-त�वम�स इ�त वा�य ंकेन �पेण अख�डाथ�बोधकं भव�त ?

        A:-अनुब�धचतु�येन
        B:-साधनचतु�येन
        C:-स�ब�ध�येण
        D:-िववत��पेण
        Correct Answer:- Option-C

Question80:-शौचस�तोषतपः �वा�याये�र��ण धानािन का ?
        A:-यमाः
        B:-िनयमाः
        C:-�ाणायामः



        D:-��याहारः
        Correct Answer:- Option-B

Question81:-संयोगसं�ािवधायकं सू�ं िकम् ?
        A:-हलोऽन�तराः संयोगः
        B:-परःस��कष�ः संिहता
        C:-सुि���त ंपदम्
        D:-अदे�गुणः
        Correct Answer:- Option-A

Question82:-उदा�सं�ा केन सू�ेण ?

        A:-नीचैरनुदा�ः
        B:-उ�ै�दा�ः
        C:-समाहारः �व�रतः
        D:-अदश�न ंलोपः
        Correct Answer:- Option-B

Question83:-तु�या�य�य�न ंसवण�म् इ�त सू�ेण �क िवधीयते ?

        A:-सवण�सं�ा
        B:-गुणसं�ा
        C:-गु�सं�ा
        D:-लोपसं�ा
        Correct Answer:- Option-A

Question84:-वृ��रादचै् इ�त सू�ेण आद�ै वृ��सं�ः�यात्। अ�य सू��य सं�या का ?
        A:-1/1/1

        B:-1/3/1

        C:-1/1/10

        D:-1/1/8

        Correct Answer:- Option-A

Question85:-सु��यपुा�यः इ�य� धकार�य ि��वं केन सू�ेण ?

        A:-झलां जश् झ�श
        B:-अन�च च
        C:-अचोरहा�यां �े
        D:-झरो झ�र सवण�
        Correct Answer:- Option-B

Question86:-�ेजते इ�य� पर�प ंकेन सू�ेण ?

        A:-ए�ड. पर�पं



        B:-एड्. पदा�ताद�त
        C:-अ�तािदव�
        D:-अदसो मात्
        Correct Answer:- Option-A

Question87:-राम�ीकते इ�य� स��धः कः ?
        A:-�ु�वस��धः
        B:-�्चु�वस��धः
        C:-ज��वस��धः
        D:-िवसग�स��धः
        Correct Answer:- Option-A

Question88:-हरये इ�य� स��धः कः ?
        A:-अयािदस��धः
        B:-गुणस��धः
        C:-दीघ�स��धः
        D:-य�स��धः
        Correct Answer:- Option-A

Question89:-ग�यम् - अ� आदेशः कः ?
        A:-अय्
        B:-अव्
        C:-आय्
        D:-आव्
        Correct Answer:- Option-B

Question90:-त�यः-अ� तो�ल इ�त सू�ेण �क िवधीयते ?

        A:-परसवण�ः
        B:-पर�पं
        C:-ि��वं
        D:-लपर�वं
        Correct Answer:- Option-A

Question91:-ह�श च इ�त सू�ेण क�य उ�वं िवधीयते ?

        A:-रफे�य
        B:-अकार�य
        C:-ओकार�य
        D:-इकार�य
        Correct Answer:- Option-A



Question92:-नमः श�दयोगे का िवभि�ः ?
        A:-तृतीया
        B:-चतुथ�
        C:-ि�तीया
        D:-ष�ी
        Correct Answer:- Option-B

Question93:-समासशा�े उपसज�नसं�ा क�य ?

        A:-�थमािन����य
        B:-ि�तीयािनद���य
        C:-तृतीयािन�द��य
        D:-चतुथ� िन�द��य
        Correct Answer:- Option-A

Question94:-महायश�कःइ�य� केन सू�ेण कप् ��ययः ?
        A:-शेषाि�भाषा
        B:-इणः षः
        C:-क�कािदषु च
        D:-�श तुक्
        Correct Answer:- Option-A

Question95:-कु�भकारः इ�त क�य समास�य उदाहरणम् ?
        A:-त�पु�षसमास�य
        B:-उपपदसमास�य
        C:-बहु�ीिहसमास�य
        D:-अ�ययीभावसमास�य
        Correct Answer:- Option-B

Question96:-���समासे �घसं�कं पद ंकु� �यो��यम् ?
        A:-पूव�
        B:-परं
        C:-अ��तमं
        D:-ि�तीयम्
        Correct Answer:- Option-A

Question97:-कटे आ�ते इ�य� कटश�द�य का िवभि�ः ?
        A:-तृतीया
        B:-चतुथ�



        C:-स�मी
        D:-ि�तीया
        Correct Answer:- Option-C

Question98:-�ुवमपायेऽपादानम् इ�त सू�े अपायश�द�य अथ�ः कः ?
        A:-िव�ेषः
        B:-िवरामः
        C:-�ार�भः
        D:-िविनयोगः
        Correct Answer:- Option-A

Question99:-िव�ाय गां ददा�त इ�य� क��म�थ� चतुथ� ?
        A:-स��दानाथ�
        B:-अपादानाथ�
        C:-अ�धकरणाथ�
        D:-ई��सताथ�
        Correct Answer:- Option-A

Question100:-�ा�तपिदकाथ��ल�प�रमाणवचनमा�े �थमा इ�त सू�े तटः तटी, तटम् इ�त क�य उदाहरण  ंभव�त?

        A:-�ा�तपिदकाथ�मा��य
        B:-वचनमा��य
        C:-प�रमाणमा��य
        D:-�ल�मा��य
        Correct Answer:- Option-D


